1. Running speed:                    
2. Move time:

3. Machining time(stop time):

4. Chain wheel A teeth:         weight:     (Direct drive-No need)
5. Chain wheel A1 teeth:        weight:     (Direct drive-No need)
6. Chain A spec.:                           (Direct drive-No need)
7. Chain wheel B teeth:         weight:         QTY:
8. Chain B spec.:               weight:         M/KG:
9. Chain B circle teeth or distance: 
10. Shaft dia.:      mm，weight:     kg，QTY:
11. Chain center length:         mm  
12. Molding+Fixture/set weight:
13. Coefficient of friction u:
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Please fill in the relevant conditions for calculation.
